Division par 100 (D)

Trouvez chaque quotient.

9,6099 +~ 100 = 3,81 + 100 =
9,445 - 100 = 6 +100=
2,932 +~100 = 8,402 + 100 =
3,1482 - 100 = 8,78 -~ 100 =
2,5242 +- 100 = 8,42 +~ 100 =
50777 - 100 = 3,4134 + 100 =
4,193 + 100 = 9,68 ~ 100 =
2,02 100 = 5,48 - 100 =
6,676 ~ 100 = 5,49 - 100 =
57 +100= 5,7788 +~ 100 =
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Division par 100 (D) Solutions

Trouvez chaque quotient.

9,6099 = 100 = 0,096099

9,445 = 100 = 0,09445

2,932 +100=0,02932

3,1482 - 100 = 0,031482

2,5242 - 100 =0,025242

5,0777 =100 =0,050777

4,193 =100 = 0,04193

2,02 +100=10,0202

6,676 =~ 100 =0,06676

5,7+ 100=0,057

3,81 + 100 =0,0381

6+ 100=0,06

8,402 +~ 100 =0,08402

8,78 +100=0,0878

8,42 - 100 = 0,0842

3,4134 + 100 =0,034134

9,68 +~ 100 = 0,0968

5,48 - 100 =0,0548

5,49 - 100 =0,0549

5,7788 =100 = 0,057788
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